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N.B. (1) Question No. 1 is compulsory,

(2) Figures to the right indicate maximum marks.
(3) Attempt any four questions from Question No 2 to 7.

Q.1 (a) What are projections! Explain various types of projections.

algorithm,
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(¢) Find out the dynamic range of an image if all the slopes in the cg,ntms.g‘[{lS]

stretched algorithm I, m, n are given as 0.2, 0.5, (.2 respectively, The

initial dynamic range of the original image is [0 - 10], a=¢agdbj*‘w
i o : ,T_;..

Q.2 (a) Whatare the properties of the curve? Derive quadratic _au?'i'.ggﬁ'ic Bezier
curve. —N ﬂ}
(b) Consider the object with coordinates A(2,4), B(3,1) C(5,3). Transform it
by first reflecting it about x-axis and then rotating ity 60 deg.
R

Q.3 (a) Write an algorithm for a midpoint citele g@érati@n‘ And Plot a circle
centered at (10,5) having a radius of 4§ urhits,

(b) What is visible surface detection? Diffcrentiate between the object space
method and image space methed. ofidetecting visible surface. Explain
the Depth buffer method for ﬁisib!ét;éurfaca detection.

& N
Q4 (a) Use Liang - Barsky e ‘clipping algorithm to find the visible
portion of the line P1(F950) to P2(30,80) against window
{ermin‘-“'3j ?iﬁfﬂj (Xwmax=20, Yw:rax:ﬁ[}).

(b) What is 2D _-?__ia@fﬂ'}g'.-"rransﬁ:rrmatiun. Derive the window to viewport

transformation &guation.
Q5 (a) Raf_leﬁ_’me triangle ABC about the line 3x-4y+8=0. The position vector
of theicoordinate ABC is given as A(4.1), B(5,2) and C(4,3).
(b) E@iﬂiﬁi—lalﬁuna shading technique and compare this with the Dithering
(. MeChnique.
o
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(b} Rasterize the ling whose endpoints are A(-2,5), B(-9,7) using DIJA 1‘3{;3

o



2 QP CODE : 514902
Q.6 (a) Torthe following image data of § bits per pixels . Obtain [08]

i) Image negative
ii) Thresholding result ( Threshold value = 150)
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(b) Equalize the given histogram. ' 4 %
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Q.7 Write short n&ms l}t} thE following (any 3) ,f_‘b}
£

(a) Low pass J_‘?[_gﬂth_zgmf'f?ﬂter (b) Fl&qgl"l’ ill Algorithm
(c) Koch CM > 4 (d) Mmatmn
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